

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name:Saybrook Medians Phase IIIProject ID:RDC0016557Bids Opened:12/19/2023Project Manager:Alejandro (PMA) Nunez n/a

Addenda: 3 Duration: 0 Day(s)

| | | | | Engin | Engineer's Estimate (1) Land Forms Construction | | s Construction | (2) Marina Landscape, Inc. | | (3) FOUR SEASONS LANDSCAPING | | (4) Environmental Construction, Inc. | |
|----------------------------|---|------------|-------------------|-------------|---|-------------------|----------------|----------------------------|---------------|---------------------------------|---------------|---|---------------|
| (1) Preliminary Bid Amount | | | | | ę | \$1,360,934.00 | \$ | 51,501,240.70 | \$ | 1,587,657.09 | \$ | 1,882,719.90 | |
| (2) Un | it Price Detail | | | | | | | | | | | | |
| Item | <u>Description</u> | <u>Qty</u> | <u>Unit Price</u> | <u>Unit</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> | <u>Unit Price</u> | <u>Amount</u> |
| 1 | CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500) | 1 | \$2,500.00 | LS | \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 | \$2,500.00 |
| 2 | CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH) | 4 | \$500.00 | MTH | \$2,000.00 | \$500.00 | \$2,000.00 | \$500.00 | \$2,000.00 | \$500.00 | \$2,000.00 | \$500.00 | \$2,000.00 |
| 3 | CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000) | 1 | \$1,000.00 | LS | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 |
| 4 | IMPLEMENTATION OF THE LTWHP | 1 | \$10,000.00 | LS | \$10,000.00 | \$6,800.00 | \$6,800.00 | \$24,000.00 | \$24,000.00 | \$100.00 | \$100.00 | \$12,000.00 | \$12,000.00 |
| 5 | PREPARATION OF THE SWPPP (STIPULATED UNIT PRICE OF \$5,000) | 1 | \$5,000.00 | LS | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 |
| 6 | IMPLEMENTATION OF THE SWPPP | 1 | \$60,000.00 | LS | \$60,000.00 | \$80,000.00 | \$80,000.00 | \$25,000.00 | \$25,000.00 | \$2,500.00 | \$2,500.00 | \$35,000.00 | \$35,000.00 |
| 7 | OFFICE FACILITIES | 5 | \$10,000.00 | MTH | \$50,000.00 | \$4,000.00 | \$20,000.00 | \$5,500.00 | \$27,500.00 | \$100.00 | \$500.00 | \$2,000.00 | \$10,000.00 |
| 8 | MOBILIZATION | 1 | \$150,000.00 | LS | \$150,000.00 | \$68,000.00 | \$68,000.00 | \$120,000.00 | \$120,000.00 | \$75,076.95 | \$75,076.95 | \$193,600.00 | \$193,600.00 |
| 9 | CLEARING AND GRUBBING | 123451 | \$0.25 | SF | \$30,862.75 | \$0.01 | \$1,234.51 | \$0.70 | \$86,415.70 | \$1.50 | \$185,176.50 | \$1.70 | \$209,866.70 |
| 10 | UNCLASSIFIED EXCAVATION | 1809 | \$150.00 | CY | \$271,350.00 | \$128.00 | \$231,552.00 | \$72.00 | \$130,248.00 | \$5.00 | \$9,045.00 | \$100.00 | \$180,900.00 |
| 11 | UTILITY POTHOLES | 6 | \$845.00 | EA | \$5,070.00 | \$240.00 | \$1,440.00 | \$1,000.00 | \$6,000.00 | \$1,000.00 | \$6,000.00 | \$1,500.00 | \$9,000.00 |
| 12 | TRAFFIC CONTROL | 1 | \$60,000.00 | LS | \$60,000.00 | \$6,100.00 | \$6,100.00 | \$20,000.00 | \$20,000.00 | \$5,000.00 | \$5,000.00 | \$60,000.00 | \$60,000.00 |
| 13 | RIVER ROCK COBBLE | 35 | \$150.00 | TON | \$5,250.00 | \$167.00 | \$5,845.00 | \$135.00 | \$4,725.00 | \$1,000.00 | \$35,000.00 | \$200.00 | \$7,000.00 |
| 14 | 4"X8" CONCRETE HEADER | 6600 | \$35.00 | LF | \$231,000.00 | \$24.00 | \$158,400.00 | \$33.00 | \$217,800.00 | \$38.00 | \$250,800.00 | \$24.00 | \$158,400.00 |

Project Name:Saybrook Medians Phase IIIProject ID:RDC0016557Bids Opened:12/19/2023Project Manager:Alejandro (PMA) Nunez n/a

| | | | | Engin | eer's Estimate | (1) Land Forms Construction | | (2) Marina Landscape, Inc. | | (3) FOUR SEASONS LANDSCAPING | | (4) Environmental Construction, Inc. | | |
|------------------------------------|----------------------------------|-------------------------------|--------------|-------|---------------------------|-----------------------------|-----------------------|----------------------------|--------------------------|---------------------------------|-----------------|---|--------------|--|
| (1) Preliminary Bid Amount | | | | | | \$1,360,934.00 | 9 | \$1,501,240.70 | | \$1,587,657.09 | | \$1,882,719.90 | | |
| • • | nit Price Detail | | | | | | | | | | | | | |
| Item | Description | Qty | Unit Price | Unit | Amount | Unit Price | Amount | Unit Price | Amount | Unit Price | Amount | Unit Price | Amount | |
| 15 | FURNISH AND PLANT 24" | 62 | \$600.00 | EA | \$37,200.00 | \$523.00 | \$32,426.00 | \$275.00 | \$17,050.00 | \$800.00 | \$49,600.00 | \$665.00 | \$41,230.00 | |
| | BOX TREE | | | | | | | | | | | | | |
| 16 | LANDSCAPING | 1 | \$203,066.00 | LS | \$203,066.00 | \$197,853.49 | \$197,853.49 | \$253,000.00 | \$253,000.00 | \$350,000.00 | \$350,000.00 | \$271,446.00 | \$271,446.00 | |
| 17 | AGRONOMIC SOIL REPORTS | 6 | \$577.50 | EA | \$3,465.00 | \$243.00 | \$1,458.00 | \$120.00 | \$720.00 | \$200.00 | \$1,200.00 | \$1,200.00 | \$7,200.00 | |
| 18 | IRRIGATION SYSTEM | 1 | \$389,025.00 | LS | \$389,025.00 | \$299,000.00 | \$299,000.00 | \$252,000.00 | \$252,000.00 | \$250,000.00 | \$250,000.00 | \$341,950.00 | \$341,950.00 | |
| 19 | FURNISH AND INSTALL | 400 | \$125.00 | LF | \$50,000.00 | \$70.00 | \$28,000.00 | \$78.00 | \$31,200.00 | \$10.00 | \$4,000.00 | \$124.00 | \$49,600.00 | |
| | CONDUIT FOR IRRIGATION | | | | | | | | | | | | | |
| | WIRES IN ROADWAY | | | | | | | | | | | | | |
| 20 | TRENCH AND BACKFILL IN | 2152 | \$16.00 | LF | \$34,432.00 | \$0.50 | \$1,076.00 | \$2.75 | \$5,918.00 | \$15.00 | \$32,280.00 | \$12.00 | \$25,824.00 | |
| | PLANTING AREA FOR NEW | | | | | | | | | | | | | |
| | IRRIGATION WIRES | | | | | | | | | | | | | |
| 21 | FURNISH AND INSTALL NEW | 15000 | \$0.50 | LF | \$7,500.00 | \$0.60 | \$9,000.00 | \$0.25 | \$3,750.00 | \$2.00 | \$30,000.00 | \$0.40 | \$6,000.00 | |
| | IRRIGATION WIRES | | <u> </u> | | * 0 5 00 00 | <u> </u> | * (*) | <u> </u> | * ***** | * =00.00 | 4 700.00 | <u> </u> | <u> </u> | |
| 22 | IRRIGATION CONTROLLER | 1 | \$3,500.00 | LS | \$3,500.00 | \$1.00 | \$1.00 | \$6,000.00 | \$6,000.00 | \$500.00 | \$500.00 | \$15,000.00 | \$15,000.00 | |
| | CERTIFICATION AND | | | | | | | | | | | | | |
| | SYSTEM TRAINING SESSION | 4 | \$49,496.00 | 1.0 | \$49,496.00 | \$4,000.00 | \$4,000.00 | \$18,000.00 | \$18,000.00 | \$2,000.00 | \$2,000.00 | \$3,000.00 | \$3,000.00 | |
| 23 | PLANT ESTABLISHMENT | 1 | \$49,490.00 | LS | \$49,490.00 | \$4,000.00 | \$4,000.00 | \$10,000.00 | φ16,000.00 | \$2,000.00 | \$2,000.00 | \$3,000.00 | \$3,000.00 | |
| 24 | PERIOD DECOMPOSED GRANITE, 4" | 22696 | \$6.00 | SF | \$136,176.00 | \$4.75 | \$107,806.00 | \$5.25 | \$119,154.00 | \$9.84 | \$223,328.64 | \$4.20 | \$95,323.20 | |
| 24 | THICK | 22090 | ψ0.00 | ЪГ | φ130,170.00 | φ4.75 | φ107,000.00 | ψ0.20 | φ119,10 4 .00 | ψ9.04 | φ220,020.04 | φ4.20 | ψ90,020.20 | |
| 25 | NO. 2 CONCRETE | 81 | \$150.00 | TON | \$12,150.00 | \$113.00 | \$9,153.00 | \$85.00 | \$6,885.00 | \$50.00 | \$4,050.00 | \$80.00 | \$6,480.00 | |
| 20 | AGGREGATE | 01 | | | <i>,</i> , | | | | + - , | | + ., | | +-, | |
| 26 | PET WASTE STATION | 4 | \$1,750.00 | EA | \$7,000.00 | \$1,500.00 | \$6,000.00 | \$825.00 | \$3,300.00 | \$500.00 | \$2,000.00 | \$800.00 | \$3,200.00 | |
| 27 | ROUND CONCRETE PICNIC | 16 | \$2,500.00 | EA | \$40,000.00 | \$2,795.00 | \$44,720.00 | \$3,900.00 | \$62,400.00 | \$2,000.00 | \$32,000.00 | \$4,700.00 | \$75,200.00 | |
| | TABLE AND ROUND | | | | | | | | | | | | | |
| | CONCRETE PICNIC TABLE | | | | | | | | | | | | | |
| | ADA ACCESSIBLE | | | | | | | | | | | | | |
| 28 | CONCRETE TRASH | 8 | \$1,775.00 | EA | \$14,200.00 | \$1,823.00 | \$14,584.00 | \$3,550.00 | \$28,400.00 | \$500.00 | \$4,000.00 | \$4,000.00 | \$32,000.00 | |
| | RECEPTACLE | | | | | | | | | | | | | |
| 29 | DECORATIVE BOULDERS | 115 | \$315.00 | EA | \$36,225.00 | \$139.00 | \$15,985.00 | \$185.00 | \$21,275.00 | \$200.00 | \$23,000.00 | \$200.00 | \$23,000.00 | |
| Unit Price Total | | \$1,907,467.75 \$1,360,934.00 | | | | | | \$1,587,657.09 | | \$1,882,719.90 | | | | |
| (3) LSBE/DVBE/SE Preference Amount | | \$0.00 | | | \$0.00 | | | \$0.00 | 0.00 \$0.00 | | | | | |
| (4) LSBE/DVBE/SE Adjusted Amount | | | | | | | \$1,360,934.00 | \$1,501,240.70 \$1,587,65 | | | \$1,587,657.09 | 9 \$1,882,719.90 | | |

Addenda: 3 Duration: 0 Day(s)

| Project Name: Saybrook Medians Phase III Project ID: RDC0016557 Bids Opened: 12/19/2023 Project Manager: Alejandro (PMA) Nunez n/a Du | | | | | | | | | | Addenda: 3 ion: 0 Day(s) | | |
|--|--|-------------------|-------------|---------------|-----------------------------|----------------------------|----------------------------------|------------------------|---|-----------------------------|-------------|---------------|
| | Engineer's Estimate (1) Land Forms Construction (2) Marina Landscape, Inc. | | | | | dscape, Inc. | | R SEASONS IDSCAPING | (4) Environmental Construction, Inc. | | | |
| (1) Preliminary Bid Amount | | | | \$1 | 1,360,934.00 | \$1 | ,501,240.70 | \$1 | ,587,657.09 | \$1 | ,882,719.90 | |
| (2) Unit Price Detail <u>Item Description</u> Comments | <u>Qty</u> | <u>Unit Price</u> | <u>Unit</u> | <u>Amount</u> | <u>Unit Price</u> NON RI | <u>Amount</u> ESPONSIVE | <u>Unit Price</u> APPARENT LC | Amount W BIDDER | <u>Unit Price</u> | <u>Amount</u> | Unit Price | <u>Amount</u> |